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QUESTION 1

There are two single-select attributes in an array set. The first single-select attribute shows a list of countries and the
second attribute shows a list of states. Which is the most efficient way to show relevant states based on chosen
country?

A. Use the Hiding rule, which is the only possible option, because arrays do not do not support Constraint rules.

B. Create Hiding rules for each country with Simple Conditions, and then select valid states for the Action attribute. In
this case, the number of Hiding rules will be equal to the number of countries.

C. Create a Constraint rule for each country in the drop-down list by using Simple Conditions and select valid states for
the Action attribute of the rule. In this case, number of rules will be equal to the number of countries in the list.

D. Load all country and state combinations in a data table and write a Constraint rule to lookup the data table.

Correct Answer: B

QUESTION 2

Identify the three data types available for part custom fields. (Choose three.)
A. "Date," can include time

B. "String,"” can be changed to "Single Select Menu"

C. "Boolean”

D. "Float," can be changed to "Integer”

E. "Currency"

F. "Multi Select menu"

Correct Answer: BDE

QUESTION 3

A customer sets up a BOM mapping for a configuration model using a single simple Table-Based BOM Mapping
Configuration rule, as well as the BOM Item Definition and BOM Item Mapping Tables. When reviewing their
implementation, they notice the following: The BOM Root Items Administration List shows the root BOM item and its
child BOM items correctly. No errors are displayed. (Accessed from Admin > Products > BOM > BOM Root Items List)
The BOM Item Mapping Administration List shows no root BOM item or child BOM items. No errors are displayed.
(Accessed from the BOM Mapping rule\\'s "Save and View Details" button)

Which field have they incorrectly populated in their BOM Mapping Tables?

A. "Parent BOM Map Variable Name" in the BOM Item Mapping Table

B. "Root Variable Name" in the BOM ltem Definition Table

170-1033 PDF Dumps | 1Z0-1033 Practice Test | 120-1033 Study Guide 2/4


https://www.pass4itsure.com/1z0-1033.html
https://www.pass4itsure.com/1z0-1033.html
https://www.pass4itsure.com/1z0-1033.html

. VCE & PDF https://www.pass4itsure.com/1z0-1033.html
E 2024 Latest passditsure 120-1033 PDF and VCE dumps Download

PassditSure.com

C. "Part Number" in the BOM Item Definition Table

D. "Parent Variable Name" in the BOM Item Definition Table

E. "BOM Item Variable Name" in the BOM Item Mapping Table

F. "Configurable Attribute Variable Name" in the BOM Item Mapping Table

Correct Answer: D

QUESTION 4

Given the following JSON:

jsonString=" {\ “asset-101\" : (\ "lines\" : [ (\ “documentMumber\” : \ "45\", \ “quanticy\" : \"3\",

\ "price \ " : 9.1}, {\ “documentiumber\ " :\ ™40\ ", \ “quantity\” : \ "“30\" , \ “prics\" :62}],
“finalDate\” :null, \ "“finalAction\” ; \ “UPDATE\", \ “available\ “true} }*;

Which option gets the reference of a JSON object with a specific Document Number “40\\'?

iw

A. jobjlLine=jsonpathgetsingle (" S..lines [?
(@.documentlmber = = ‘40’ 1" , ™json”, jobjhAssest);
jobjline=jsongetsingle (jobjAssetr, “$..lines [? (GdicumentNumber= = ‘4¢r)] *, “jJson”);

C. jobijline=jsonpath.getsingle (joblsset, “5..lines[?
(@.documentBumber= = “40")] ™, “json”):

D. jokjline=jacnpathgetsingle (jobjlsset, “&..lines([?
{@.documentNumber= = “4£07)]1", “json”):

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D

QUESTION 5

A client wants customers to be able to select a laptop category from a drop-down list in the Product
Configuration section. After the laptop category is selected, all laptops within that category need to be
displayed without the user having to do any more selections.

Which option meets this requirement?
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A. Formula Administration

B. Util library function

C. Commerce library function
D. Auto Update

Correct Answer: D
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